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Alg
| PREVIEW | GLOSE
Quiz: Simplifying Quotients of Radicals
Question 1a of 15 (3 qQuotients of Radicals 92000 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which choice is equivalent to the quotient below?
45
NE)
Choice| Feedback
a |5
3
5 |2
M@ Correct!
D. |5
Global Incorrect Feedback
The correct answer is: Jg .
Question 1b of 15 (3 qQuotients of Radicals 295173 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which choice is equivalent to the quotient below?
A0
)
Choice| Feedback
A |2
B.
*C. Correct!
D. |5
Global Incorrect Feedback
The correct answer is:
Question 1c of 15 ( 3 Quotients of Radicals 295174 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: Which choice is equivalent to the quotient below?
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Alg
Choice| Feedback
«E Correct!
—
B. | =
c. |V
D. |5

Global Incorrect Feedback

The correct answer is: M@ .

Question 2a of 15 (3 qQuotients of Radicals 92001 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the quotient below?

N

N3

Choice| Feedback
Correct!

i [ |l [

Global Incorrect Feedback

The correct answer is: 2.

Question 2b of 15 ( 3 Quotients of Radicals 295175 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the quotient below?

Choice| Feedback
A.
*B.[2 Correct!
C.
D.

Global Incorrect Feedback

The correct answer is: 2.
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Question 2c of 15 ( 3 Quotients of Radicals 295176 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the quotient below?
wer’

Choice| Feedback

Correct!

Global Incorrect Feedback

The correct answer is: 4.

Question 3a of 15 (3 qQuotients of Radicals 92002 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the quotient below?

32

JB

Choice| Feedback
HZ Correct!
B. |4
c. [¥2

2
D.

Global Incorrect Feedback

The correct answer is: 2.

Question 3b of 15 (3 qQuotients of Radicals 295177 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the quotient below?
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Choice| Feedback

Correct!

| w : O
,\_,«i__] .
F-d [N

Global Incorrect Feedback

The correct answer is: 3.

Question 3c of 15 (3 qQuotients of Radicals 295178 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the quotient below?

Choice| Feedback

Correct!

A.
C.
D

AN
(]
sIEE
IR

Global Incorrect Feedback

The correct answer is: 4.

Question 4a of 15 ( 3 Quotients of Radicals 92003 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the quotient below?

Choice| Feedback
A.
B.
*C. Correct!
D.

Global Incorrect Feedback

The correct answer is:
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Question 4b of 15 ( 3 Quotients of Radicals 295179 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

Choice| Feedback
i
A. ¥
4
B |2
v
c. |4

Correct!

El

1

Multiple Choice

2

Which choice is equivalent to the quotient below?

Global Incorrect Feedback

. e
The correct answeris: ¥ .
rd

Question 4c¢ of 15 (3 qQuotients of Radicals 295181 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

Choice| Feedback
-0

B.

C.

*D. Correct!

1

Multiple Choice

2

Which choice is equivalent to the quotient below?

Global Incorrect Feedback

The correct answer is:
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Question 5a of 15 ( 3 Quotients of Radicals 92004 )
Maximum Attempts: 1
Question Type: Multiple Response
Maximum Score: 2
Question: Which choices are equivalent to the quotient below? Check all that apply.

Jiz
N

Correct Answers:

Choice
a |8
2
B. |2
c. | =
R
JB
D. E
4
JZ
7]

a

Attempt| Incorrect Feedback
1st

Correct Feedback

Correct!

Global Incorrect Feedback

4
The correct answers are: % and 2 .

Question 5b of 15 (3 quotients of Radicals 295182 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Which choices are equivalent to the quotient below? Check all that apply.

Correct Answers:
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Alg
Choice
7]
B. |2
c | =
HEE
1
J2
. | &
|z
Fo| ¥
2
Attempt| Incorrect Feedback
1st

Correct Feedback

Correct!

Global Incorrect Feedback

N

The correct answers are: ﬁ and—F(—=

5

Question 5c¢ of 15 (3 qQuotients of Radicals 295183 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Which choices are equivalent to the quotient below? Check all that apply.
SJE

l[-]

Correct Answers:

Choice
A.
*B.
*C.
D.
E.
F. |2
Attempt| Incorrect Feedback
1st
Correct Feedback
Correct!
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Global Incorrect Feedback

a

The correct answers are: /2 andﬁ :

Question 6a of 15 (3 qQuotients of Radicals 92005 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Which choices are equivalent to the quotient below? Check all that apply.

J75

J15

Correct Answers:

Choice

o
15

IE

Ul 'f-_,‘j] '_:“J]‘a |

Attempt| Incorrect Feedback
1st

Correct Feedback

Correct!

Global Incorrect Feedback

N5 15

The correct answers are: , \E , and ‘J@ .

Question 6b of 15 ( 3 Quotients of Radicals 295184 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Which choices are equivalent to the quotient below? Check all that apply.

Correct Answers:
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Attempt| Incorrect Feedback

Correct Feedback

Correct!

Global Incorrect Feedback

N2 15

The correct answers are: «u@, \E , and ‘J@ .

Question 6c¢ of 15 (3 Quotients of Radicals 295185 )

Maximum Attempts: 1
Question Type: Multiple Response
Maximum Score: 2
Question: Which choices are equivalent to the quotient below? Check all that apply.
-
—

4+
—
-

Correct Answers:

Choice
A. |5

*B.

*E.

*F.

Attempt| Incorrect Feedback
1st

Correct Feedback

Correct!
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Global Incorrect Feedback

SR

Ji5
5

The correct answers are: , 3 and \E

Question 7a of 15 (3 Quotients of Radicals 92006 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Which choices are equivalent to the product below? Check all that apply.

Correct Answers:

Choice

]

| o

—
]

=

RN
EE

b
PR |ir_'u"'| k.

.

Attempt| Incorrect Feedback
1st

Correct Feedback

Correct!

Global Incorrect Feedback

The correct answers are: , , , and

Question 7b of 15 (3 qQuotients of Radicals 295186 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Which choices are equivalent to the product below? Check all that apply.

Correct Answers:
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Incorrect Feedback

Correct Feedback

Correct!

Global Incorrect Feedback

EEE
The correct answers are: 4 , 12 , 24 , and

Re]

2

Question 7c of 15 ( 3 Quotients of Radicals 295187 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Which choices are equivalent to the product below? Check all that apply.

-]

|
'I_".I
Yo f

(S|

Correct Answers:

Choice

*A.

*D.

*E.

*F,
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Alg

Attempt| Incorrect Feedback

1st

Correct Feedback

Correct!

Global Incorrect Feedback

3

4 .

I
The correct answers are: \J_

Question 8a of 15 (3 qQuotients of Radicals 92007 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Which choices are equivalent to the product below? Check all that apply.

Correct Answers:

Choice

p. |12

40

24
25

Attempt| Incorrect Feedback

1st

Correct Feedback

Correct!

Global Incorrect Feedback

The correct answers are:

and
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Question 8b of 15 (3 quotients of Radicals 295189 )
Maximum Attempts: 1
Question Type: Multiple Response
Maximum Score: 2
Question: Which choices are equivalent to the product below? Check all that apply.

Correct Answers:

Choice
24
A. 55
fi-
1\’ il
c. |-

Attempt| Incorrect Feedback

Correct Feedback

Correct!

Global Incorrect Feedback

{ - -
The correct answers are: 1J1T and ff .

Question 8c of 15 (3 qQuotients of Radicals 295190 )

Maximum Attempts: 1

Question Type: Multiple Response

Maximum Score: 2

Question: Which choices are equivalent to the product below? Check all that apply.

Correct Answers:
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Alg

Choice

'-."H

iy

M
sl | [

Attempt| Incorrect Feedback
1st

Correct Feedback

Correct!

Global Incorrect Feedback

] _
E .'l :l'
The correct answers are: and . .

Question 9a of 15 (3 qQuotients of Radicals 92008 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: _u.rg P
According to the property E = J: , which choice is equivalent to the

quotient below?

30

NG

Choice| Feedback

A. |5
B. |25
*C.

D. |-5

Global Incorrect Feedback

The correct answer is:
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Question 9b of 15 (3 qQuotients of Radicals 295191 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: 3

Ja 2
According to the property — = ,|— , which choice is equivalent to the
g property \.'rE P q

quotient below?
\I._I-I

r

r

Choice| Feedback

Correct!

..U o [=[>
-
T

Global Incorrect Feedback

The correct answer is: +F .

Question 9c¢ of 15 (3 qQuotients of Radicals 295192 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: _U.rg S
According to the property E = \[% , which choice is equivalent to the
quotient below?
I',-_,
e
-
Choice| Feedback
A. |5
B. |25
C. |-5
D.
*E. Correct!

Global Incorrect Feedback

The correct answer is:
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Question 10a of 15 ( 3 Quotients of Radicals 92009 )

Maximum Attempts:

Question Type:
Maximum Score:

Question:
Choice| Feedback

A. |25

B. |-5
Correct!

Question 10b of 15 (3 qQuotients of Radicals 295206 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:
Choice| Feedback
A. |36
B. |-6
C. |12
6 Correct!

Question 10c of 15 ( 3 Quotients of Radicals 295207 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:

C:\Documents and Settings\humbertoo\My Documents\Doom\Algebra I-B sem 2\5.1.5.mht

1
Multiple Choice
2
Ja _ [z
According to the property E = J% , which choice is equivalent to the

quotient below?

1

Global Incorrect Feedback

The correct answer is: 5.

Multiple Choice

2

!
According to the property ——= = J: , which choice is equivalent to the

=B

quotient below?

¥

1

b |
<
-

Global Incorrect Feedback

The correct answer is: 6.

Multiple Choice

2

According to the property

quotient below?

, which choice is equivalent to the

6/11/2012
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Alg
Choice| Feedback
A. |25
5 Correct!
C. |-5
D. |2

Global Incorrect Feedback

The correct answer is: 5.

Question 11a of 15 (3 qQuotients of Radicals 92010 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: _U.rg I3
According to the property E = J: , which choice is equivalent to the

quotient below?

JiB

Nz

Choice| Feedback
4 Correct!
-4
16
8
42

r".c.nswn[

Global Incorrect Feedback

The correct answer is: 4.

Question 11b of 15 (3 Quotients of Radicals 295196 )

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question:
According to the property , which choice is equivalent to the

quotient below?

Choice| Feedback
-4
8

16
42
*E.| 4 Correct!

SRIEE

Global Incorrect Feedback

The correct answer is: 4.
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Question 11c of 15 (3 Quotients of Radicals 295197 )
Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: _ \.G I3 _ o _
According to the property E = J% , which choice is equivalent to the

quotient below?

.
T

T

Choice| Feedback
A. |-5
B. |25
5 Correct!
D. |10
E. |52

Question 12a of 15 ( 3 Quotients of Radicals 92011 )

Global Incorrect Feedback

The correct answer is: 5.

Maximum Attempts: 1
Question Type: Multiple Choice
Maximum Score: 2
Question: _U.rg I3
According to the property E = J: , which choice is equivalent to the

quotient below?

Ja

2

Choice| Feedback
A. |-3
B. |-9
C.
*D.|3 Correct!

Question 12b of 15 ( 3 Quotients of Radicals 295198 )

Global Incorrect Feedback

The correct answer is: 3.

Maximum Attempts: 1

Question Type: Multiple Choice
Maximum Score: 2

Question:

According to the property

quotient below?
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Choice| Feedback
A. |4
B. |-2
Correct!

Global Incorrect Feedback

The correct answer is: 2.

Question 12c of 15 ( 3 Quotients of Radicals 295199 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:
Choice| Feedback

A. |-3

B. |-9
Correct!

3
D. |9

1
Multiple Choice
2

!
According to the property J: , which choice is equivalent to the

=B

quotient below?

Global Incorrect Feedback

The correct answer is: 3.

Question 13a of 15 ( 1 Quotients of Radicals 92012 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:
Choice| Feedback
True

*B.|False |Correct!

1
True-False
2

The property of radicals for quotients states that the square root of a fraction
is the square root of the denominator over the square root of the numerator.

Global Incorrect Feedback

The correct answer is: False.

Question 13b of 15 ( 1 Quotients of Radicals 295200 )

Maximum Attempts:
Question Type:
Maximum Score:

Question:
Choice| Feedback
True

*B.|False |Correct!

1
True-False
2

The property of radicals for quotients states that the square root of a fraction
is the square root of the denominator over the square root of the numerator.
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Global Incorrect Feedback

The correct answer is: False.

Question 13c of 15 (1 Quotients of Radicals 295201 )

Maximum Attempts:
Question Type:

Maximum Score:

Question:

Choice| Feedback
A. |True

False |Correct!

1
True-False
2

The property of radicals for quotients states that the square root of a fraction
is the square root of the denominator over the square root of the numerator.

Global Incorrect Feedback

The correct answer is: False.

Question 14a of 15 ( 1 Quotients of Radicals 92013 )

Maximum Attempts:

Question Type:

Maximum Score:

Question:
Choice| Feedback
True Correct!
B. |False

1
True-False
2

Simplifying some radical expressions may require you to combine the rules for
multiplication and division.

Global Incorrect Feedback

The correct answer is: True.

Question 14b of 15 (1 Quotients of Radicals 295202 )

Maximum Attempts:

Question Type:

Maximum Score:

Question:

Choice| Feedback
*A.| True Correct!
B. |False

1
True-False
2

Simplifying some radical expressions may require you to combine the rules for
multiplication and division.

Global Incorrect Feedback

The correct answer is: True.

Question 14c of 15 (1 Quotients of Radicals 295203 )

Maximum Attempts:

Question Type:

Maximum Score:

Question:

1
True-False
2

Simplifying some radical expressions may require you to combine the rules for
multiplication and division.
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Choice| Feedback
True Correct!
B. |False

Global Incorrect Feedback

The correct answer is: True.

Question 15a of 15 (3 Quotients of Radicals 92014 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the product below?

Choice| Feedback
=
A | =
B. |-
4
c. |
i
D. | -
1
. — Correct!

Global Incorrect Feedback

-

]
'

The correct answer is: =

Question 15b of 15 (3 quotients of Radicals 295204 )

Maximum Attempts: 1

Question Type: Multiple Choice

Maximum Score: 2

Question: Which choice is equivalent to the product below?

Choice| Feedback
*A. Correct!
B.
C.
D.
E.
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Question 15c of 15 (3 qQuotients of Radicals 295205 )

Maximum Attempts:
Question Type:
Maximum Score:
Question:

Choice| Feedback
Al
5 |
C. =

% Correct!
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1

Global Incorrect Feedback

The correct answer is:

Multiple Choice

2

Which choice is equivalent to the product below?

Global Incorrect Feedback

The correct answer is: =
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